Tax Calculator

Filename: taxes

The Problem

Write a program that calculates a simplified version of the amount of income tax the user has to pay, given his/her annual salary and a listing of the tax bracket. The United States uses a graduated income tax. Here is an example of a very simplified version of it:

	Income Level (x)
	Tax Rate for that income

	0 < x ( 5000
	0

	5000 < x ( 15000
	15%

	15000 < x ( 25000
	20%

	x > 25000
	25%


Using this chart, here is how to determine the income tax if one's annual salary for a year is $20,000: The first $5000 doesn't get taxed at all. The next $15000-$5000 = $10000 gets taxed at 15% for a total of $1500 tax. The last $20000-$15000 = $5000 gets taxed at 20% for a total of $1000 tax. Thus, the amount of tax paid for an annual income of $20000 is $1500+$1000 = $2500.

Input and Output Specification

First, your program should prompt the user with the following message:

What is your annual income?

The user will enter a positive real number in between 0 and 100000, inclusive.

You must output a message with the following format.

Your tax on an income of $XX.XX is $YY.YY

(Where XX.XX represents the annual income of the user, and YY.YY represents the tax on that income.)

You should read in each stock price, which will be distinct positive real numbers in between 0.0 and 100.0, inclusive, after you prompt the user for it.

Sample Input and Output (User input in bold.)

What is your annual income?

6000

Your tax on an income of $6000 is $150.
